YNoAoYIOHOC OUVTEAEOTWV TPIRNAG:

Rey = X X
v

- 3.684x 10*  (TupB&SNC pon)

€ y =

N Di — 0.000075 (oxeTIk TpaxUTnTa)
X

Ano diaypappa Moody:  f, == 0.0225

Kat:

p-Uy-Dy 4 ) )
Rey:=—=4.912x 10 (TupBwdNG pon)
v

B 5 = Di = 0.0001 (oxeTikn TpaxuTnTa)
x

Ano didypaupa Moody:  fy := 0.0215

Enopévwg:

+ fy—
2 * D,

=121.5-kPa

2 2
LX p-Uy Ly p-uy
pl_F =] fX. HX .

Kat:

P1 p:=P1 o+ P _r=196.8-kPa
(y) FPAPHIKEG KAl EVTONIOHEVEG ANGMAEIEG

Pi_oatko = Pt + PL_E

ornou
2 2 2
p-Uy p-Ux p-Ux
pI_E = 4'C,\MV'T ar Cga)\' + CBPU.T =107.3-kPa
Enopévwg:

Pi ~=P1 g+ P_g=304.1-kPa



